

MDPI

Article

# Remarks on Recent Results for Generalized F-Contractions

Huaping Huang 1,\* , Vesna Todorčević 2 and Stojan Radenović 3 and St

- School of Mathematics and Statistics, Chongqing Three Gorges University, Wanzhou 404020, China
- Department of Mathematics, Faculty of Organizational Sciences, University of Belgrade, Jove Ilića 154, 11000 Belgrade, Serbia; vesna.todorcevic@fon.bg.ac.rs
- Faculty of Mechanical Engineering, University of Belgrade, Kraljice Marije 16, 11120 Belgrade, Serbia; radens@beotel.net
- \* Correspondence: huaping@sanxiau.edu.cn

**Abstract:** In this paper, we give some remarks on the recent papers on generalized *F*-contractions. Our results unify and generalize the previous results in the existing literature. Moreover, we give an example to support our results. As an application, we give the existence and uniqueness of a solution to a class of differential equations.

**Keywords:** strictly increasing function; generalized *F*-contraction; fixed point; integral equation

MSC: 47H09; 47H10; 54H25

### 1. Introduction and Preliminaries

Since Banach invented the Banach contraction principle (for short, BCP) [1], fixed point theory has shown rapid development (see [2–5]). In recent years, by using different methods, BCP has been generalized greatly. One of the significant generalizations of BCP is due to Wardowski [6], who introduced a new contraction based on an auxiliary function F satisfying certain conditions, called F-contraction, and presented a fixed point theorem. Subsequently, several interesting modifications and extensions dealing with the original results of Wardowski have been carried out in various ways by many researchers. For the details on F-contractions, the reader may refer to [7–10] and references therein. Motivated by the previous work on F-contractions, throughout this paper, we introduce a generalized F-contraction, which embeds a Hardy–Rogers type function (see [3]). Moreover, we obtain a fixed point theorem for this contraction. In our opinion, our results are more general than ones in the literature. We simplify and correct some errors from previous papers. Further, as an application, we utilize our results to study the existence of the unique solution for a class of differential equations.

In what follows, unless otherwise specified, we always denote by  $\mathbb{R}$  the set of all real numbers,  $\mathbb{N}$ , the set of all nonnegative integers,  $\mathbb{N}^*$ , the set of all positive integers.

Inspired by the works of Wardowski [6,11,12], we denote by  $\mathcal{F} \uparrow$  the family of all the functions  $F:(0,+\infty)\to\mathbb{R}$  satisfying that F is a strictly increasing function. Clearly,  $\lim_{c\to d^-}F(c)=F(d^-)$  and  $\lim_{c\to d^+}F(c)=F(d^+)$  hold for all  $d\in(0,+\infty)$ . Moreover, for all  $x\in(0,+\infty)$ , we have

$$F(x^-) \le F(x) \le F(x^+).$$

Let  $F \in \mathcal{F} \uparrow$ , then, there are two possibilities as follows:

(1) 
$$F(0^+) = \lim_{x \to 0^+} F(x) = r \in \mathbb{R};$$

(2) 
$$F(0^+) = \lim_{x \to 0^+} F(x) = -\infty$$
 (for more details, see [1,13–15]).

That is to say, each  $F \in \mathcal{F} \uparrow$  satisfies either (1) or (2) (see Proposition 1, Section 8 of [1]). Hence, the second and third conditions for the function F from [6,11,12] are superfluous.

Suppose that  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$ ,  $\eta$  are nonnegative real constants for which one of the following conditions is satisfied:



Citation: Huang, H.; Todorčević, V.; Radenović, S. Remarks on Recent Results for Generalized F-Contractions. *Mathematics* **2022**, *10*, 768. https://doi.org/10.3390/ math10050768

Academic Editor: Christopher Goodrich

Received: 12 February 2022 Accepted: 25 February 2022 Published: 28 February 2022

**Publisher's Note:** MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https://creativecommons.org/licenses/by/4.0/).

Mathematics 2022, 10, 768 2 of 8

(I) 
$$\alpha + \beta + \gamma + \delta + \eta < 1$$
;

(II) 
$$\delta < \frac{1}{2}$$
,  $\gamma < 1$ ,  $\alpha + \beta + \gamma + 2\delta = 1$  and  $0 < \alpha + \delta + \eta \le 1$ .

(II)  $\delta < \frac{1}{2}$ ,  $\gamma < 1$ ,  $\alpha + \beta + \gamma + 2\delta = 1$  and  $0 < \alpha + \delta + \eta \le 1$ . It is not hard to verify that (I) and (II) are incompatible. Indeed, if we take  $\alpha = 1$ ,  $\beta = 1$  $\gamma = \delta = \eta = 0$ , then (II) does not imply (I). Further, if we take  $\alpha = \frac{1}{3}$ ,  $\beta = \gamma = \delta = \eta = 0$ , then (I) does not imply (II). Note that if  $\alpha = \delta = \frac{1}{3}$ ,  $\beta = \gamma = \eta = 0$ , then both (I) and (II) are satisfied.

In the statement of our results in the sequel we will use the following lemmas.

**Lemma 1.** *If the nonnegative real numbers*  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  *and*  $\eta$  *satisfy Condition (II), then*  $\gamma + \delta < 1$ .

**Proof.** Suppose the opposite, i.e., that  $\gamma + \delta \geq 1$ , then

$$1 = \alpha + \beta + \gamma + 2\delta \ge \alpha + \beta + 1 + \delta,$$

so  $\alpha + \beta + \delta \le 0$ , which follows  $\alpha = \beta = \delta = 0$ . Thus, by  $\alpha + \beta + \gamma + 2\delta = 1$ , it means  $\gamma = 1$ . This leads to a contradiction with  $\gamma < 1$ .  $\square$ 

**Lemma 2.** ([5]) Suppose that  $\{x_n\}_{n\in\mathbb{N}}$ , which belongs to a metric space (X,d) and satisfies  $\lim_{n\to\infty} d(x_n,x_{n+1})=0$ , is not a Cauchy sequence. Then, there exist  $\varepsilon>0$  and sequences of positive integers  $\{n_k\}$ ,  $\{m_k\}$ ,  $n_k > m_k > k$  such that each of the next sequences

$$\{d(x_{n_k}, x_{m_k})\}, \{d(x_{n_k+1}, x_{m_k})\}, \{d(x_{n_k}, x_{m_k-1})\},$$
  
 $\{d(x_{n_k+1}, x_{m_k-1})\}, \{d(x_{n_k+1}, x_{m_k+1})\}$ 

tends to  $\varepsilon^+$  as  $k \to \infty$ .

**Lemma 3.** Let (X,d) be a metric space and  $T:X\to X$  a mapping. If there exists some  $n\in\mathbb{N}$ such that  $T^n$  has a unique fixed point p in X, then T admits a unique fixed point p in X.

**Proof.** By the hypothesis, it is valid that  $T^n p = p$ , then

$$T^n(Tp) = T^{n+1}p = T(T^np) = Tp.$$

Hence, Tp is also a fixed point of  $T^n$ . Since  $T^n$  has a unique fixed point, then Tp = p, i.e., p is a fixed point of T.

We will prove the uniqueness of the fixed point of *T*. Actually, assume that *T* has another fixed point q, then

$$T^n p = T^{n-1}(Tp) = T^{n-1}p = \dots = Tp = p,$$
  
 $T^n q = T^{n-1}(Tq) = T^{n-1}q = \dots = Tq = q.$ 

Accordingly, p and q are fixed points of  $T^n$ . By the uniqueness of the fixed point of  $T^n$ , it follows that p = q.  $\square$ 

# 2. Main Results

Let (X, d) be a metric space and  $T: X \to X$  a mapping. We introduce a Hardy–Rogers type function as follows:

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x,y) = \alpha d(x,y) + \beta d(x,Tx) + \gamma d(y,Ty) + \delta d(x,Ty) + \eta d(y,Tx),$$

where  $x, y \in X$ ,  $\alpha, \beta, \gamma, \delta, \eta$  satisfy Condition (I) or Condition (II). We give the following theorem.

Mathematics 2022, 10, 768 3 of 8

**Theorem 1.** Let (X, d) be a complete metric space. Suppose that  $T: X \to X$  is a generalized *F-contraction*, that is,

$$\tau + F(d(Tx, Ty)) \le F(H_{\alpha, \beta, \gamma, \delta, \eta}(x, y)) \tag{1}$$

holds for all  $x, y \in X$  with  $Tx \neq Ty$ , where  $\tau > 0$  is a constant and  $F \in \mathcal{F} \uparrow$ , then T has a unique fixed point  $x^* \in X$ , and for each  $x \in X$ , the sequence  $\{T^n x\}_{n \in \mathbb{N}}$  converges to  $x^*$ .

**Proof.** By (1) and the monotonicity of the function F, we have

$$d(Tx, Ty) < H_{\alpha, \beta, \gamma, \delta, \eta}(x, y). \tag{2}$$

We will first prove the existence of fixed point of T. Indeed, we take an arbitrary point  $x_0 \in X$  and form the corresponding Picard sequence:  $\{x_n\} = \{Tx_{n-1}\}$ , where  $n \in \mathbb{N}^*$ .

If  $x_p = x_{p-1}$  for some  $p \in \mathbb{N}^*$ , then  $x_{p-1}$  is the fixed point of T. Hence, the proof is finished. Now, suppose that  $x_n \neq x_{n-1}$  for each  $n \in \mathbb{N}^*$ . Putting  $x = x_{n-1}$ ,  $y = x_n$  in (2), we obtain

$$0 < d(x_n, x_{n+1}) < H_{\alpha, \beta, \gamma, \delta, \eta}(x_{n-1}, x_n), \tag{3}$$

where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x_{n-1},x_n)$$

$$= \alpha d(x_{n-1},x_n) + \beta d(x_{n-1},x_n) + \gamma d(x_n,x_{n+1})$$

$$+ \delta d(x_{n-1},x_{n+1}) + \eta d(x_n,x_n)$$

$$\leq \alpha d(x_{n-1},x_n) + \beta d(x_{n-1},x_n) + \gamma d(x_n,x_{n+1})$$

$$+ \delta [d(x_{n-1},x_n) + d(x_n,x_{n+1})] + \eta \cdot 0$$

$$= (\alpha + \beta + \delta) d(x_{n-1},x_n) + (\gamma + \delta) d(x_n,x_{n+1}).$$

Further, putting  $x = x_n$ ,  $y = x_{n-1}$  in (2), we obtain

$$0 < d(x_{n+1}, x_n) < H_{\alpha, \beta, \gamma, \delta, n}(x_n, x_{n-1}), \tag{4}$$

where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x_{n},x_{n-1})$$

$$= \alpha d(x_{n},x_{n-1}) + \beta d(x_{n},x_{n+1}) + \gamma d(x_{n-1},x_{n})$$

$$+ \delta d(x_{n},x_{n}) + \eta d(x_{n-1},x_{n+1})$$

$$\leq \alpha d(x_{n},x_{n-1}) + \beta d(x_{n},x_{n+1}) + \gamma d(x_{n-1},x_{n})$$

$$+ \delta \cdot 0 + \eta [d(x_{n-1},x_{n}) + d(x_{n},x_{n+1})]$$

$$= (\alpha + \gamma + \eta) d(x_{n-1},x_{n}) + (\beta + \eta) d(x_{n},x_{n+1}).$$

Adding up (3) and (4) yields

$$d(x_n, x_{n+1}) \le \mu d(x_{n-1}, x_n), \tag{5}$$

where  $\mu = \frac{2\alpha + \beta + \gamma + \delta + \eta}{2 - (\beta + \gamma + \delta + \eta)}$ .

If Condition (I) holds, then  $\mu \in [0,1)$ . In view of (5), it is valid that

$$d(x_n, x_{n+1}) \le \mu d(x_{n-1}, x_n) \le \mu^2 d(x_{n-2}, x_{n-1}) \le \dots \le \mu^n d(x_0, x_1).$$

Accordingly, for any  $n, m \in \mathbb{N}$ , n < m, we speculate

$$d(x_n, x_m) \le d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \dots + d(x_{m-1}, x_m)$$
  

$$\le \mu^n d(x_0, x_1) + \mu^{n+1} d(x_0, x_1) + \dots + \mu^{m-1} d(x_0, x_1)$$
  

$$= \mu^n (1 + \mu + \mu^2 + \dots + \mu^{m-n-1}) d(x_0, x_1)$$

Mathematics 2022. 10, 768 4 of 8

$$\leq \mu^{n}(1+\mu+\mu^{2}+\cdots)d(x_{0},x_{1})$$
  
=\frac{\mu^{n}}{1-\mu}d(x\_{0},x\_{1})\to 0 \quad (n\to\infty),

which means that  $d(x_n, x_m) \to 0$  as  $n, m \to \infty$ . Thus,  $\{x_n\}$  is a Cauchy sequence. If Condition (II) holds, then by Lemma 1 and  $\alpha + \beta + \gamma + 2\delta = 1$ , (3) becomes

$$0 < d(x_n, x_{n+1}) < \frac{\alpha + \beta + \delta}{1 - (\gamma + \delta)} \cdot d(x_{n-1}, x_n) = d(x_{n-1}, x_n).$$
 (6)

Then, by (6), the sequence  $\{d(x_{n-1},x_n)\}$  has a limit  $\ell \geq 0$  as  $n \to \infty$ . In the following, we will prove  $\ell = 0$ .

As a matter of fact, suppose that  $\ell > 0$ , then (1) becomes

$$\tau + F(d(x_n, x_{n+1})) \le F((\alpha + \beta + \delta)d(x_{n-1}, x_n) + (\gamma + \delta)d(x_n, x_{n+1})). \tag{7}$$

Taking the limit as  $n \to \infty$  in (7), we obtain  $\tau + F(\ell^+) \le F(\ell^+)$  which is a contradiction with  $\tau > 0$ . Consequently, we obtain  $\ell = 0$ , i.e.,  $\lim_{n \to \infty} d(x_{n-1}, x_n) = 0$ .

Under Condition (II), if  $\{x_n\}$  is not a Cauchy sequence, then putting  $x = x_{n_k}, y = x_{m_k}$  in (1), we obtain

$$\tau + F(d(x_{n_k+1}, x_{m_k+1})) \le F(H_{\alpha, \beta, \gamma, \delta, \eta}(x_{n_k}, x_{m_k})),$$
 (8)

where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x_{n_k}, x_{m_k})$$
=  $\alpha d(x_{n_k}, x_{m_k}) + \beta d(x_{n_k}, x_{n_k+1}) + \gamma d(x_{m_k}, x_{m_k+1})$ 
+  $\delta d(x_{n_k}, x_{m_k+1}) + \eta d(x_{m_k}, x_{n_k+1})$ .

Then, by Lemma 2, there exist  $\varepsilon > 0$  and sequences of positive integers  $\{n_k\}$ ,  $\{m_k\}$ ,  $n_k > m_k > k$  such that

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x_{n_k},x_{m_k}) \to (\alpha+\delta+\eta)\varepsilon^+ \ (k\to\infty).$$

Therefore, taking the limit as  $k \to \infty$  in (8), we obtain

$$\tau + F(\varepsilon^+) \le F((\alpha + \delta + \eta)\varepsilon^+) \le F(\varepsilon^+),$$

which leads to a contradiction with  $\tau > 0$ .

To sum up, under Condition (I) or Condition (II), we claim that the Picard sequence  $\{x_n\}_{n\in\mathbb{N}}$  is a Cauchy sequence. Since (X,d) is complete, then there exists  $p\in X$  such that  $x_n\to p$  as  $n\to\infty$ . In the sequel, we will prove that Tp=p.

Suppose that  $Tp \neq p$ . Putting  $x = x_n, y = p$  in (2), we have

$$d(x_{n+1}, Tp) < H_{\alpha, \beta, \gamma, \delta, n}(x_n, p), \tag{9}$$

where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x_n,p)$$

$$= \alpha d(x_n,p) + \beta d(x_n,x_{n+1}) + \gamma d(p,Tp)$$

$$+ \delta d(x_n,Tp) + \eta d(p,x_{n+1})$$

$$\to (\gamma + \delta)d(p,Tp) \quad (n \to \infty).$$

Taking the limit as  $n \to \infty$  in (9), we obtain

$$0 < d(p, Tp) \le (\gamma + \delta)d(p, Tp),$$

Mathematics 2022, 10, 768 5 of 8

If Condition (I) holds, then

$$0 < d(p, Tp) \le (\gamma + \delta)d(p, Tp)$$
  
 
$$\le (\alpha + \beta + \gamma + \delta + \eta)d(p, Tp)$$
  
 
$$< d(p, Tp),$$

which is a contradiction.

If Condition (II) holds, then by Lemma 1, it is easy to say that

$$0 < d(p, Tp) \le (\gamma + \delta)d(p, Tp) < d(p, Tp).$$

This is a contradiction.

Finally, we will prove the uniqueness of the fixed point of T. To this end, we suppose for absurd that T has another fixed point q in X. That is, Tq = q,  $q \neq p$ . On account of (2), then

$$0 < d(p,q) < \alpha d(p,q) + \beta \cdot 0 + \gamma \cdot 0 + \delta d(p,q) + \eta d(q,p),$$

that is,

$$0 < d(p,q) < (\alpha + \delta + \eta)d(p,q) \le (\alpha + \beta + \gamma + \delta + \eta)d(p,q),$$

which establishes  $\alpha + \delta + \eta > 1$  and  $\alpha + \beta + \gamma + \delta + \eta > 1$ . We obtain a contradiction with Condition (II) or Condition (I). This means that the fixed point of T is unique.  $\Box$ 

**Remark 1.** The above theorem shows several things. First, it generalizes and corrects the recent results on a fixed point for a so-called F-contraction (see [7–10]. Secondly, various consequences can be obtained by assuming Condition (**I**) or Condition (**II**) if we choose the special values of parameters  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$ , and  $\eta$ .

**Remark 2.** *Putting*  $\alpha \in [0,1)$ ,  $\beta = \gamma = \delta = \eta = 0$ , we obtain the main results from [6].

**Remark 3.** Putting  $\alpha = 1$ ,  $\beta = \gamma = \delta = \eta = 0$ , we obtain Corollary 2 from [16].

**Remark 4.** Let us recall consequence 2 from [16]. Only the strictly increasing function F is assumed and it is proved that the mapping  $T: X \to X$  has a unique fixed point if d(Tx, Ty) > 0 which implies  $\tau + F(d(Tx, Ty)) \le F(d(x, y))$ . In the proof, among other things,  $d(x_n, x_{n+1}) \to 0$  as  $n \to \infty$  was used. Since  $d(x_n, x_{n+1}) > 0$ , then  $\tau + F(d(x_n, x_{n+1})) \le F(d(x_{n-1}, x_n))$ . By taking the limit in the obtained inequality as  $n \to \infty$ , we obtain  $\tau + F(0^+) \le F(0^+)$  which is a contradiction if there is not a condition  $F(0^+) = -\infty$ . So, the assumption that  $F(0^+) = -\infty$  is an infinitely mandatory condition for the mentioned results.

Now, we give the following example to illustrate Theorem 1.

**Example 1.** Let X = [0,1] with d(x,y) = |x-y| for all  $x,y \in X$ . Then (X,d) is a complete metric space. Define  $T: X \to X$  as

$$Tx = \frac{1}{4}x^2 + \frac{1}{2}x$$

for all  $x \in X$ . Define

$$F(t) = \ln t, \quad t \in (0, +\infty).$$

Then, it is not hard to verify that

$$\ln 2 + F(d(Tx, Ty)) \le F(H_{\alpha, \beta, \gamma, \delta, \eta}(x, y))$$

for all  $x, y \in X$ , where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(x,y) = \alpha d(x,y) + \beta d(x,Tx) + \gamma d(y,Ty) + \delta d(x,Ty) + \eta d(y,Tx),$$

Mathematics 2022, 10, 768 6 of 8

and  $\alpha = \frac{2}{3}$ ,  $\beta = \frac{1}{6}$ ,  $\gamma = \frac{1}{8}$ ,  $\delta = \frac{1}{2}$ ,  $\eta = \frac{1}{2}$ . Thus, all conditions of Theorem 1 are satisfied. So, T has a unique fixed point 0 in X.

## 3. Application

In this section, we will give an application to our main results.

Let *X* be a Banach space, *U* a open subset of  $\mathbb{R} \times X$ ,  $u_0 = (t_0, x_0) \in U$ ,  $f: U \to X$ a continuous function. The problem is to find a closed interval I such that  $t_0 \in I$  and a differentiable function  $x: I \to X$  satisfying

$$\begin{cases} x'(t) = f(t, x(t)), & t \in I, \\ x(t_0) = x_0. \end{cases}$$
 (10)

It is easy to see that (10) is equivalent to the integral equation

$$x(t) = x_0 + \int_{t_0}^t f(s, x(s)) \, ds, \quad t \in I.$$
 (11)

**Theorem 2.** Assume that the following conditions are satisfied:

(i) there exists a function  $\lambda(t) \in [0, +\infty) \cap L^1((t_0 - a, t_0 + a))$  for some a > 0 such that

$$||f(t,x_1) - f(t,x_2)||_X \le \lambda(t)||x_1 - x_2||_X$$

holds for all  $(t, x_1), (t, x_2) \in U$ , where  $\|\cdot\|_X$  is the norm defined on X;

(ii) there exist a constant c > 0 and a closed ball  $\overline{B}(u_0, s)$  of U such that  $||f(t, x)||_X \le c$  for any  $(t,x) \in \overline{B}(u_0,s)$ , where  $\overline{B}(u_0,s)$  is the closure of the ball  $B(u_0,s)$ .

Then, there exists  $au_0>0$  such that, for each  $au< au_0$ , there is a unique solution  $x\in C^1(I_ au,X)$ to (10) with  $I_{\tau} = [t_0 - \tau, t_0 + \tau]$ .

**Proof.** Put

$$r = \min\{a, s\}, \quad \tau_0 = \min\left\{r, \frac{r}{c}\right\}.$$

Let  $\tau < \tau_0$  and construct a complete metric space  $Y = \overline{B}(x_0, r)$  with the metric dinduced by the norm of  $C(I_{\tau}, X)$ , where  $I_{\tau} = [t_0 - \tau, t_0 + \tau]$ . By virtue of  $\tau < r$ , if  $y \in Y$ , then  $(t, y(t)) \in \overline{B}(u_0, r) \subset U$  for all  $t \in I_\tau$ , Hence, for  $y \in Y$ , define

$$Ty(t) = x_0 + \int_{t_0}^t f(s, y(s)) \, \mathrm{d}s, \quad t \in I_\tau$$

and

$$F(z) = \ln z, \quad z \in (0, +\infty).$$

Then, we can show

$$\ln 2 + F(d(T^n y_1, T^n y_2)) \le F(H_{\alpha, \beta, \gamma, \delta, n}(y_1, y_2)), \tag{12}$$

for any  $n \in \mathbb{N}$ , where

$$H_{\alpha,\beta,\gamma,\delta,\eta}(y_1,y_2) = \alpha d(y_1,y_2) + \beta d(y_1,Ty_1) + \gamma d(y_2,Ty_2) + \delta d(y_1,Ty_2) + \eta d(y_2,Ty_1),$$

and 
$$\alpha = \frac{2}{n!} \|\lambda\|_{L^1(I_\tau)'}^n$$
,  $\beta = \gamma = \delta = \eta = 0$ . In fact, it is easy to deduce that (12) is equivalent to the following inequality:

$$d(T^{n}y_{1}, T^{n}y_{2}) \leq \frac{1}{n!} \|\lambda\|_{L^{1}(I_{\tau})}^{n} d(y_{1}, y_{2}),$$

Mathematics 2022. 10, 768 7 of 8

that is,

$$||T^{n}y_{1} - T^{n}y_{2}||_{C(I_{\tau},X)} \leq \frac{1}{n!} ||\lambda||_{L^{1}(I_{\tau})}^{n} ||y_{1} - y_{2}||_{C(I_{\tau},X)}.$$

$$(13)$$

Notice

$$\sup_{t \in I_{\tau}} \|Ty(t) - x_0\|_{X} \le \sup_{t \in I_{\tau}} \left| \int_{t_0}^{t} \|f(s, y(s))\|_{X} \, \mathrm{d}s \right| \le c\tau \le r,$$

then T maps Y into Y. In order to finish the proof of (13), by induction on n we need to show that, for every  $t \in I_T$ ,

$$||T^{n}y_{1}(t) - T^{n}y_{2}(t)||_{X}$$

$$\leq \frac{1}{n!} \left( \int_{t_{0}}^{t} \lambda(s) \, \mathrm{d}s \right)^{n} ||y_{1} - y_{2}||_{C(I_{\tau}, X)}. \tag{14}$$

For n = 1, (14) holds easily. So, assume that (14) is true for n - 1,  $n \ge 2$ . Then, taking  $t > t_0$  (the argument for  $t < t_0$  is analogous), we have

$$\begin{split} & \|T^{n}y_{1}(t) - T^{n}y_{2}(t)\|_{X} \\ &= \|T(T^{n-1})y_{1}(t) - T(T^{n-1})y_{2}(t)\|_{X} \\ &\leq \int_{t_{0}}^{t} \|f(s, T^{n-1}y_{1}(s)) - f(s, T^{n-1}y_{2}(s))\|_{X} \, \mathrm{d}s \\ &\leq \int_{t_{0}}^{t} \lambda(s) \|T^{n-1}y_{1}(s) - T^{n-1}y_{2}(s)\|_{X} \, \mathrm{d}s \\ &\leq \frac{1}{(n-1)!} \left[ \int_{t_{0}}^{t} \lambda(s) \left( \int_{t_{0}}^{s} \lambda(u) \, \mathrm{d}u \right)^{n-1} \mathrm{d}s \right] \|y_{1} - y_{2}\|_{C(I_{\tau}, X)} \\ &= \frac{1}{n!} \left( \int_{t_{0}}^{t} \lambda(s) \, \mathrm{d}s \right)^{n} \|y_{1} - y_{2}\|_{C(I_{\tau}, X)}. \end{split}$$

Accordingly, we have (14), which leads to (13), so we obtain (12). That is to say, (1) of Theorem 1 holds. On account of  $\alpha = \frac{2}{n!} \|\lambda\|_{L^1(I_\tau)}^n$ , then  $\lim_{n\to\infty} \alpha = 0$ , thus, for a big enough n,  $0 < \alpha < 1$ . Hence, for a big enough n and by Theorem 1,  $T^n$  has a fixed point. Therefore, by Lemma 3, T has a unique fixed point, which is clearly the (unique) solution to the integral Equation (11) and hence to (10).  $\square$ 

**Author Contributions:** H.H. designed the research and wrote the paper. V.T. carried out the draft preparation and gave the methodology, S.R. co-wrote and made revisions to the paper. H.H. gave the support of funding acquisition. All authors have read and agreed to the published version of the manuscript.

**Funding:** The first author acknowledges the financial support from the Natural Science Foundation of Chongqing of China (No. cstc2020jcyj-msxmX0762), and the Initial Funding of Scientific Research for High-level Talents of Chongqing Three Gorges University of China (No. 2104/09926601).

**Institutional Review Board Statement:** Not applicable.

**Informed Consent Statement:** Not applicable.

**Data Availability Statement:** The data presented in this study are available upon request from the corresponding author.

**Acknowledgments:** The authors thank the editor and the referees for their valuable comments and suggestions which greatly improved the quality of this paper.

Conflicts of Interest: The authors declare no conflict of interest.

Mathematics 2022, 10, 768 8 of 8

#### References

- 1. Aljančić, S. Uvod u Realnu i Funkcionalnu Analizu; Naučna knjiga: Belgrade, Serbia, 1969. (In Serbian)
- 2. Alsulami, H.H.; Gülyaz, S.; Karapınar, E.; Erhan, I.M. An Ulam stability result on quasi-b-metric-like spaces. *Open Math.* **2016**, *14*, 1087–1103. [CrossRef]
- 3. Hardy, G.E.; Rogers T.D. A generalization of a fixed point theorem of Reich. Canad. Math. Bull. 1973, 16, 201–206. [CrossRef]
- 4. Popescu, O. Some remarks on the paper "Fixed point theorems for generalized contractive mappings in metric spaces". *J. Fixed Point Theory Appl.* **2021**, 23, 72. [CrossRef]
- 5. Roshan, J.R.; Parvaneh, V.; Kadelburg, Z. Common fixed point theorems for weakly isotone increasing mappings in ordered *b*-metric spaces. *J. Nonlinear Sci. Appl.* **2014**, *7*, 229–245. [CrossRef]
- 6. Wardowski, D. Fixed points of a new type of contractive mappings in complete metric spaces. *Fixed Point Theory Appl.* **2012**, 2012, 94. [CrossRef]
- 7. Bashir, S.; Saleem N.; Husnine, S.M. Fixed point results of a generalized reversed *F*-contraction mapping and its application. *AIMS Math.* **2021**, *6*, 8728–8741. [CrossRef]
- 8. Chandok, S.; Radenović, S. Existence of solution for orthogonal *F*-contraction mappings via Picard-Jungck sequences. *J. Anal.* **2021**, 1–4. [CrossRef]
- 9. Consentino, M.; Vetro, P. Fixed point results for *F*-contractive mappings of Hardy-Rogers-Type. *Filomat.* **2014**, *28*, 715–722. [CrossRef]
- 10. Dung, N.V.; Hang, V.I. A fixed point theorem for generalized *F*-contractions on complete metric spaces. *Vietnam J. Math.* **2015**, 43, 743–753. [CrossRef]
- 11. Wardowski, D. Solving existence problems via F-contractions. Proc. Am. Math. Soc. 2018, 146, 1585–1598. [CrossRef]
- 12. Wardowski, D.; Dung, N.V. Fixed points of *F*-weak contractions on complete metric spaces. *Demonstr. Math.* **2014**, 47, 146–155. [CrossRef]
- 13. Huang, H.; Mitrović Z.D.; Zoto, K.; Radenović, S. On convex F-contraction in b-metric spaces. Axioms 2021, 10, 71. [CrossRef]
- 14. Karapınar, E.; Fulga, A.; Agarwal, R.P. A survey: *F*-contractions with related fixed point results. *J. Fixed Point Theory Appl.* **2020**, 22, 69. [CrossRef]
- Radenović S.; Mirkov N.; Paunović, Lj.R. Some new results on F-contractions in 0-complete partial metric spaces and 0-complete metric-like spaces. Fractal Fract. 2021, 5, 34. [CrossRef]
- 16. Popescu O.; Stan, G. Two fixed point theorems concerning *F*-contraction in complete metric spaces. *Symmetry* **2020**, *12*, 58. [CrossRef]